EARAROBEEIERT — 2 N— IBISH —F

20185 7H28H (£) 2E#AR1H

mﬂa%zﬁ kBRI 46 [B5E] B EEDE e
[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. v 4 2 | FlEEX 1:22.8 1-1 34.8| 8.9 3 440 |FEE= (EH)
111 |F=Tn)=>7 54.0 fo o) | B EvTLy kT4
L:lby RZN=4 B:ho¥aT-> NS
5 2 | M. FA—H 1:22.9 3-4 34.6 | 84.0 | 1 454 | FEZE (BR)
2 3| EXZZXNUAH 54.0 (1/2) 42) | B ¥rOyrTr—L
R=—5—->97 B:AZRT—I (/) HEa-KL—Ya> AET7
. i o2 | AlElE 1:23.3 3-2 35.1|79.4 | 5 432 | ERBETE (i)
3|5/ b—E>UZX b 54.0 21/2) o |BlIEx
L:/FdrUX N B:¥323 535 Rikis
3 _z B2 | BHHRBE 1:23.3 7-7 34.7]79.9 | 2 432 | REEE (FH)
410/ IVIE—Z 54.0 (nF) o |EmEfa
B4 TATv— B:7)Na—-X L1 T14577—4
=it :23. - . . EHHEL (ERH
sl s | v—FELF—% it 2 gn 1 (213)5 5-5 35.1]77.6 | 8 (4+282) éfaamg
Rib—t>5— BiL—->F1kVUF%E M=:Ees
= : 4 2 | AHEEE 1:23.6 7-7 35.0| 76.6 | 6 416 | REEERE (M)
6|57 | LT FU— 54.0 (172 Cio) | ke
RiFk v H /xR BRUYSTT4 TR — XS
N N HIDEE : - NEXZ (El
W xR NFTTE i 2 o3 (11.2;.3 1-10 [35.1| 735 | 4 <4_282) ;ﬁ\ﬁ%
T4 T7Fyvoa BTITRAT4—IN— S
= 5 ft 2 | ALHEE 1:24.1 2-2 36.0| 69.8 | 7 436 | AEZEEA (EH)
sl 4| FTLTFINS 540 A 1/4) (o) |FAiEERL
Nibho¥sn—)— B:iFLTHX-UT HOEE
N s 2 | AEHN 1:24.6 5-5 36.2| 65.0 | 11 | 432 |FIHEE—EB (i)
9l7l11| F>RAF>NN— 54.0 3) 4 | B RE—FT7—4
TS5 TVRR BiNZ—HF5— AE—RK77—L
= 4 2 | WEEL 1:25.0 10-10 [ 36.3| 61.4 | 10 | 430 |BEXEEZ (F#)
10(8[14| 727 1 A51.0 2 1/2) (g |EEERE
L:bh—t>5— BI04 —-> e EE 45035
o ft 2 | BHEHRLT 1:25.2 13-13 [ 35.9| 60.5 | 9 442 | ARAERIL ()
1Ml7l12| V38257222 A52.0 (1 1/2) g | Wt
AL an LYy BiYALE Y BE IE—
R HILFnE : - KHTRRE (EH)
12 0 | RNTTyx— i 2 oL (12215/26) 7-7 37.0| 55.3 | 14 z:g;t R
L:JFRT A~ BiYAR{L— XX pllbse]
o S35 s 2 | ARGt 1:25.7 12-12 | 36.7 | 54.9 | 12 | 422 |WEEH ()
13/8|13 E~¥7773>3 %53.0 (3/4) (g |[HimRockRacingh-nF
R:FHh¥<7128 B:E>IVay hH> il @l
s g s N JLHERS :126. - . . hEFRIE (EE
14 6l T IH—2UT it 2 oF (12216/21) 14-14 | 36.5| 51.8 | 13 (4+328) ﬁqﬂg
LARZX R N=IN— B IFILTxY~ Rk 5
@ 21 L
E») 47.1-34.8
NnaO>24 4L | 12.9-11.0-11.8-12.3-11.8-11.5-11.5
® I—F—@EBIERL
13—7-
23—7F—
3T—7— (x1,4) (3,8) (5,11) (2,7,10)14,9,13-12-6
Mal=5r= 1(4,8)3(5,11) (2,7,10) (9,14)-13,12,6
[ RN
B Op 1 490H 714K 1-3 410 & 1-3 990 &R 1-3-8 2,520
# B 1 170 1-8 560 B E =8 1,060M EE 1-3-8 13,0504
3 170 3-8 650M B H 1-3 2,380M
8 220M

ABICOVWTRDTEEERROODE. TR LIV,




